% R %‘ %ﬁ % Exposants de 10

Nom: Date: Note: _
5,57+ 10° = 6,57 + 10° =
8 x 10* = 3,91 + 107 =
1 x 10* = 1,78+ 10° =
4,03+ 10% = 8 x 10" =
10° = 10* =

10° = 2,5+ 10 =
10* = —2x10% =
1,59 x 10* = 1x10=
8,2x10° = 2,52+ 10° =
10° = 4,49 + 10° =
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Exposants de 10

Nom:

5,57+ 10* = 0.0557
8 x 10* = 80000

1 x 10* = 10000
4,03 + 10> = 0.0403
10° = 1000000

10° = 1000

10 = 100

1,59 x 10* = 159
8,2 x 10% = 820

10° = 100000

Date:

6,57 + 10* = 0.0657
3,91 = 10* = 0.0391
1,78+ 10° = 0.00178
8x10° =8

10* = 10000
2,5+10° =2.5E — 05
—2 x 10%* = -200
1x10=10

2,52+ 10%* = 0.0252

4,49 + 10* = 0.0449
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